
 

 

lar ikWYk mPp ek/;fed fo|ky;] vtesj 

Øekad             okf"kZd ijh{kk l= 2024&25 

fo"k; & fgUnh 

le; 2
𝟏

𝟐
 ?kaVs        d{kk & 7      iw.kkZad 80 

 

funsZ'k &  1- lHkh iz'u djus vfuok;Z gSaA 

  2- iz'uksa ds vad muds lkeus vafdr gSaA 

  3- ys[ku dk;Z esa 'kq)rk o LoPNrk dk fo'ks"k /;ku j[ksaA 

Hkkx & v 

I v-  fuEu x|ka'k dks è;kuiwoZd i<+dj fn, x, ç'uksa ds mÙkj fy[kks A    5 × 1 = 5 

,d ?kM+k feêh dk cuk Fkk] nwljk ihry dkA nksuksa unh ds fdukjs j[ks FksA blh le; unh esa ck<+ 

vk xbZ] cgko esa nksuksa ?kM+s cgrs pysA cgqr le; feêh ds ?kM+s us vius dks ihry okys ?kMs+ ls 

dkQh Qklys ij j[kuk pkgkA ihry okys ?kM+s us dgk Þrqe Mjks ugha nksLr] eSa rqEgsa èkDds uk 

yxkÅ¡xkAÞ feêh okys us tokc fn;k Þrqe tkucw>dj eq>s èkDds uk yxkvksxs] lgh gS( exj cgko 

dh otg ls ge nksuksa t:j Vdjk,¡xsaA vxj ,slk gqvk rks rqEgkjs cpkus ij Hkh eSa rqEgkjs èkDdksa ls 

u cp ldw¡xk esjs VqdM+s&VqdM+s gks tk,¡xs blfy, vPNk gS fd ge nksuksa vyx&vyx jgsAÞ    

1- ?kM+s fdl ls cus Fks \ 

¼d½ feêh vkSj ihry   ¼[k½ yksgk vkSj rkack    ¼x½ lksuk vkSj pkanh 

2- nksuksa ?kM+s dgk¡ j[ks Fks \ 

¼d½  unh ds fdukjs    ¼[k½  dq,¡ ds ikl    ¼x½ rkykc ds ikuh ij 

3- feêh ds ?kM+s ls ihry ds ?kM+s us dgk&&& 

¼d½ ge vyx&vyx jgs   ¼[k½ ge lkFk lkFk jgs   ¼x½ ge ckr uk djsa 

4- ^unh* dk i;kZ;okph gS&& 

  ¼d½ lfjrk     ¼[k½ u{k=     ¼x½ ek#fr 

5- ,d fnu unh esa D;k vk xbZ \ 

¼d½ ck<+     ¼[k½  eNyh    ¼x½ uko 

c- fuEufyf[kr i|ka'k dks è;ku iwoZd i<+dj fn, x, ç'uksa ds lgh mÙkj Nk¡fV, A  5 × 1 = 5 

ftldks uk viuh tkfr ds mRFkku dk vjeku gS] ftldks uk viuh tUenk 'kqfp&Hkwfe dk vfHkeku 

gS]  

ftldks uk viuh ekr`Hkk"kk dk ân; ls eku gS] ftldks uk viuh nhurk ij [ksn 'kksd egku gS] 

ftldks u fut xkSjo rFkk fut ns'k dk vfHkeku gS] og uj ugha uj&i'kq fujk gS vkSj e`rd leku 

gS A  

 6- ftl euq"; dks viuh ekr`Hkwfe ls çse ugha gS og euq"; gS & 

¼d½ i'kq leku     ¼[k½ lTtu iq#"k     ¼x½ Kkuh iq#"k 

7- gesa vius ns'k ij djuk pkfg, &  

¼d½ vfHkeku     ¼[k½ 'keZ      ¼x½ dqN ugha 

8- ekr`Hkk"kk dk djuk pkfg, & 

¼d½ ân; ls eku     ¼[k½ vieku     ¼x½ buesa ls dksbZ ugha 

9- *tkfr* 'kCn dk cgqopu gS & 

¼d½ tkrh    ¼[k½ tkfr;k¡    ¼x½ tkrs 

10- ^uj* 'kCn dk foykse gS & 

¼d½ vkSjr    ¼[k½ ukjh     ¼x½ isM+ 

 l- lgh fodYi ij lgh ¼✓½dk fu'kku yxkb, A           10 × 1 = 10 



 

 

11- ^thou Hkj* ds fy, leLr in gksxk & 

¼d½ vkthou    ¼[k½ tekuk    ¼x½ thou     ¼?k½ thou rd 

12- ^;Fkk'kh?kz* fdl lekl dk mnkgj.k gS \ 

¼d½ vO;;hHkko   ¼[k½ deZèkkj;  ¼x½ f}xq     ¼?k½ }a} 

13- ^canj isM+ ij cSBs gSaA* okD; esa dkjd gS && 

¼d½ vfèkdj.k   ¼[k½ drkZ    ¼x½ deZ    ¼?k½ dj.k 

14- ^jke us MaMs ls ekjkA* esa ç;qä dkjd gS&&& 

¼d½ dj.k     ¼[k½ viknku   ¼x½ lacaèk     ¼?k½ deZ 

15- 'kkck'k ! rqe ;gk¡ vk gh x, & ¼vFkZ ds vkèkkj ij lgh okD; Nk¡fV,A 

¼d½ bPNk okpd   ¼[k½ foLe;okpd    ¼x½ fofèkokpd    ¼?k½ ladsrokpd 

16- xkSjo dks lwpuk feyh vkSj og rqjar ?kj ls fudy iM+k A  ¼jpuk ds vkèkkj ij okD; gS &½ 

   ¼d½ ljy okD;   ¼[k½ la;qä okD;    ¼x½ feJ okD;    ¼?k½ dsoy ,d 

17- &&&&&&&&&&&&tkvks ftlls le; ij igq¡p ldksA ¼ lgh fØ;k fo'ks"k.k pqudj fy[kks ½ 

¼d½ èkhjs      ¼[k½ tYnh    ¼x½ de     ¼?k½ buesa ls dksbZ ugha 

18- fuEu esa ls jhfr okpd fØ;k fo'ks"k.k ugha gS & 

¼d½ rst     ¼[k½ Åij    ¼x½ tksj ls    ¼?k½ èkhjs&èkhjs 

19- ^jkds'k dgkuh fy[krk gSA^ esa fØ;k fdlds vuqlkj gS \ 

¼d½ deZ     ¼[k½ drkZ     ¼x½ Hkko    ¼?k½ lacaèk  

20- deZokP; esa fØ;k fdlds vuqlkj ç;qä dh tkrh gS \ 

¼d½ drkZ      ¼[k½ deZ     ¼x½ fØ;k     ¼?k½ Hkko    

Hkkx & c 

II  ¼d½ fuEu ç'uksa ds mÙkj nhft, A            6 × 2 = 12 

21- orZuh 'kq) djds fyf[k, A 

¼v½ vHkh'kki       ¼c½ ijhD'kk 

22- fuEufyf[kr okD;ksa esa ls mís'; vkSj foèks; vyx djds fyf[k,A 

¼v½ lkou esa [kwc xeÊ iM+ jgh gS A   ¼c½ fujkyk th LoPN èkksrh&dqrkZ igurs Fks A 

23- uhps fn, x, okD;ksa ds dky igpku dj fyf[k, A 

¼v½ 'kq#vkr ,sls tkuoj ls djsaxs tks 'kjkjrh uk gks A  

¼c½ vc ogk¡ dkQh cM+k ikdZ gS A 

24- ufer mnkl D;ksa Fkk \ 

25- dfo us fdls uj&i'kq vkSj e`rd ds leku ekuk gS \ 

26- ghjs us vius dkSu&dkSu ls xq.k crk,a \ 

Hkkx &l 

III funZs'kkuqlkj mÙkj nhft,A 

& O;kdj.k ls A                 4 × 3 = 12 

27- leLrin dk foxzg dhft, A 

¼d½ gou lkexzh    ¼[k½ egkRek     ¼x½ Hk;Hkhr 

28- fuEufyf[kr yksdksfä;ksa ds vFkZ fyf[k, A 

¼d½ vkxs dqvk¡] ihNs [kkbZ A   

¼[k½ ?kj dh eqxÊ nky cjkcj A   

¼x½ mYVk pksj dksroky dks Mk¡Vs A 

29- fuEu fojke fpàksa ds uke fyf[k, A 

¼d½ ¼ !  ½     ¼[k½ ¼ ß Þ ½    ¼x½ ¼ & ½ 

30- okP; fdls dgrs gSa \ mnkgj.k lfgr Hksnksa ds uke fyf[k, A 



 

 

& ikB ls A                5 × 3 = 15    

31- çtk dh lq[k 'kkafr ds fy, vfgY;kckbZ us D;k&D;k fd;k \ 

32- le>w us tqEeu dks D;k lkspdj iap pquk \ 

33- HksfM+, us cdjh ds lkeus D;k çLrko j[kk \ 

34 fdUuj dSyk'k ds f'kofyax dks ,d vtwck D;ksa dgk x;k gS \ 

35- eykyk ij rkfyckuh vkradokfn;ksa us dc vkSj dSls geyk fd;k \ 

& dkO; ls A             2 × 3 = 6 

36- fuEufyf[kr dkO; iafä;ksa dh lçlax O;k[;k dhft, A 

tks rfud gok ls ckx+ fgyh] ysdj lokj mM+ tkrk FkkA  

jk.kk dh iqryh fQjh ugha rc rd psrd eqM+ tkrk FkkA  

dkS'ky fn[kyk;k pkyksa esa] mM+ x;k Hk;kud Hkkyksa esaA  

fuHkÊd x;k og <kyksa esa] ljiV nkSM+k djokyks esa A 

 37- fuEu dkO; iafä;ksa dks iw.kZ dhft, A 

ge rks dsoy ;g&&&&&& gSa fd ,d ns'k dh &&&&& nwljs ns'k dks &&&&&& Hkstrh gSA 

IV  funZs'kkuqlkj mÙkj nhft, A              3 × 5 = 15 

38- vkids ?kj esa NksVs HkkbZ dk tUefnol vkxkeh 20 ekpZ dks euk;k tkuk gS ,d fuea=.k i= rS;kj  

   dhft, A 

vFkok 

   tUefnol ds lanHkZ esa bZ&esy fyf[k, A 

39-  fdlh ,d fo"k; ij dgkuh fyf[k, A 

1- nwljk nhid 

2- Hkxoku dk nksLr 

vFkok 

  ^esjs thou dk y{;* fo"k; ij fucaèk fyf[k, A 

40 dksbZ ,d foKkiu fyf[k, A 

1- de 'kqxj dh vkblØhe dk vkd"kZd foKkiu rS;kj dhft, A 

2- çk—frd tM+h cwfV;ksa ls rS;kj lkcqu dk lfp= foKkiu rS;kj djsa A 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

ST. PAUL’S SR. SEC. SCHOOL, AJMER 
Sample paper yearly examination 2024-25 

Time: 2½ Hrs.                               Sub: English         Class: VII                                            M.M.:80 

Instructions: 

         (i) All questions are compulsory.  

        (ii) Question I and II are of Reading and comprehension . 

       (iii) Question III,  IV and V are of grammar.  

      (iv) Question VI is of composition.  

      (v)  Question VII, VIII and IX are of text. 

 

I. Read the following passage and answer the questions given below: 

Emma loved gardening. Every morning, she would wake up early to water her plants and check on the flowers. 

She had roses, sunflowers, and tulips growing in her small garden. One day, she noticed that some of the leaves 

had tiny holes in them. Worried, she asked her grandfather for help. Her grandfather explained that small insects 

might be eating the leaves. He suggested using natural remedies like spraying a mixture of water and neem oil to 

keep the insects away. Emma followed his advice, and soon her plants became healthy again. Emma felt happy 

seeing her flowers bloom beautifully. She realized that taking care of plants required patience and effort, but it 

was worth it. 

Answer the questions given below:                         (5×1=5) 

1.What did Emma love? 

a) Cooking                                  b) Gardening 

c) Painting                                  d) Dancing 

2.What types of flowers did Emma have? 

a) Lilies and daisies        b) Sunflowers and tulips 

c) Orchids and violets      d) Jasmine and marigolds 

3.What problem did Emma notice in her garden? 

a) The flowers stopped blooming  b) The soil was too dry 

c) The leaves had tiny holes   d) The plants were growing too fast 

4.Who helped Emma solve the problem? 

a) Her mother                            b) Her teacher 

c) Her grandfather                     d) Her neighbour 

5.What did her grandfather suggest to keep insects away? 

a) Use chemical pesticides   b) Remove all the plants 

c) Spray a mixture of water and neem oil d) Stop watering the plants 

II. Read the following passage and answer the questions given below: 

In a small village nestled between rolling hills, a young boy named Aiden loved to explore the dense forests that 

surrounded his home. Every afternoon after school, he would venture into the woods, fascinated by the chirping 

birds and rustling leaves. One day, while following a trail he had never seen before, he stumbled upon a hidden 

lake. The water was crystal clear, reflecting the golden sunlight. Curious, Aiden knelt down and saw tiny fish 

darting through the water. Excited by his discovery, he ran home to tell his grandfather, who smiled knowingly. 

"That lake has been there for generations," his grandfather said. "Legends say that it was once a hidden treasure 

of the forest, known only to the birds and animals. “Aiden was determined to learn more about the lake. He 

began spending his evenings there, sketching the plants and observing the wildlife. Over time, he realized how 

important the lake was to the ecosystem. He decided to take care of it by cleaning up any litter he found and 

telling his friends about the beauty of nature. 

Answer the questions given below:                                      (5×1=5) 

6.Where did Aiden live? 

7.What did Aiden discover in the forest? 

8. How did Aiden’s grandfather react to his discovery? 

Roll No: 



 

 

9.What did Aiden do at the lake? 

10.What lesson did Aiden learn? 

III. Choose the correct option and write in your answer sheet:                     (10×1=10) 

11. The assertive form of the sentence ‘ Is this the way to react? is: 

a) This is not the way to react.  

b) This is the way to react. 

c) Is this the way to react. 

12. The Interrogative form of the sentence ‘ I cannot let you suffer like this?’ 

a) Can you suffer like this?  

b) Can I let you suffer like this? 

c) I can let you suffer like this. 

13. The exclamatory form of the sentence ‘ He is very unlucky.’ is: 

a) Is he very unlucky!          

b) Very unlucky he is! 

c) How unlucky he is!  

14. My friend adopted a ________ dog. 

a) help              b) enjoyable                 c) homeless 

15. We all enjoyed a ________ concert. 

a) prettiest        b) successful       c) helpful  

16.He often acts in a ____________ way. 

  a) selfish         b) childish                   c) rhythm  

17. Synonym of the word ancient is: 

a) adorn             b) old                          c) force 

18. Synonym of the word forgive is:  

a) pardon             b) pursue                     c) reliant 

19. Antonym of the word glow is: 

a) shine                  b) glister                     c) dark 

20. Antonym of the word credit is: 

a) debit                  b) reduce                    c) approval 

  

IV. Do as directed :                                                           (5x1 =5)              

21.It is a long lane ___________(supply a clause) 

22. The person ____________ is sure to fall. ( supply a clause) 

23. Abdul said, “ I am going to meet a friend”. ( convert to indirect speech) 

24.Vinay said, “ I want to study medicine ”. ( convert to Indirect speech) 

25. She said to me, “Will you play with me?”( convert to Indirect speech) 

 

V. Complete the fill ups with appropriate form of tenses:                                                                               (5) 

26. The heavy rains triggered a number of landslides forcing the authorities to close down the 300 km long 

Jammu- Srinagar national highway,  for safety reasons. The break in rainfall  ________ ( lead) to marginal rise in 

temperature,  however, the minimums may see a slight fall. Also, this interval __________ ( follow) by another 

western disturbance which ________( affect) the region on Monday. Meanwhile, adjoining areas of the region 

_______also _______(affect) by the disturbance with Punjab, Haryana and Delhi experiencing scattered rainfall.  

 

VI. Composition:                                              

27. Compose an E-Mail informing the Student Council of your school about their meeting with the Principal, to 

chalk out details about the forth-coming Literary Fair ( Book Fair).                                                                    (5) 

28. Create a message on: A customer called up to register a complaint with the manager on account of a defective 

mobile phone. The Customer Care Executive left a note for the manager as he was not in his office.(5) 

 

VII.  Answer the following questions in about 20 to 30 words:                                                              (4×2=8) 

29. Why was the idea of starting a school a very exciting one for Booker’s people? 



 

 

30. Why does Sherlock Holmes remark that the use of phosphorus on the hound’s muzzle was ‘ a cunning plan’? 

31. Why is the Bermuda Triangle considered to be a dangerous zone? 

32. What is unusual about the disappearances in the Bermuda Triangle? 

 

VIII.  Answer the following questions in about 30 to 50 words:                                                          (4x3= 12) 

33. Why was Sir Henry asked to walk down the path on the moor on a lonely night? 

34. What were the problems he faced when he finally went to school and how did he overcome them? 

35. Why were both the day- schools and night-schools filled to overflowing? 

36. Why did Stapleton use the legend of the hound to kill Sir Charles? 

 

IX. Answer the following questions in about 50 to 100 words:                                                             (4x5=20) 

37. When did Sherlock Holmes realise that someone was interested in the safety of Sir Henry? 

38. The narrator had great love for and much patience with her grandmother. Illustrate with instances from the 

lesson. 

39. To Avva, the narrator was more than a granddaughter. Explain.  

40. Design a poster to announce the opening of a new grocery shop in your city. Information should contain time, 

date, venue and all the other necessary facilities that will be provided there. 
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vof/k % 2 ?k.Vs 30 feuV    iw.kkZad % 80  

lkekU; funsZ’kk %    

 1. losZ iz’uk% vfuok;kZ% lfUrA 

 2- iz’ukuka vadk% rsu le{ka lfUrA  

 3. ys[ku dk;sZ LoPNrk 'kq)rk /;kua vo’;a HkorqA 

 4. iz’u la[;k ,dkr~ foa’kfr iz’ukuke~ mÙkjkf.k fodYis"kq fpRok rkfydk;ka ,oa fy[krA 

 
[k.M&*v*  

I. iz’ukuke~ mÙkjkf.k fodYis"kq fpRok fy[kr & 

 ¼d½ v/kksfyf[kr vifBr x|ka’k ifBRok ,rnk/kkfjr iz’ukuke~ mÙkjkf.k fodYis"kq fpRok fy[kr & (5×1=5) 
iqjk eFkqjk;ke~ ,d% ù’kal% u`ifr% vHkor~A rL; uke dal% vklhr~A rL; ,dk Hkfxuh nsodh vklhr~A olqnsosu lg 

nsoD;k% fookg% vHkor~A nsoD;k% fonkdkys vkdk’kok.kh vHkor~ & ^^nsoD;k% iq=% dalL; ?kkrd% Hkfo";fr** bfrA 

1.  eFkqjk;ka d% u`i% vklhr~ & 

 ¼v½ dal% ¼c½ f’kfo% ¼l½ ijhf{kr% ¼n½ jko.k% 

2.  dalL; HkfxU;k fde~ vklhr~ & 

 ¼v½ nsodh ¼c½ yfyrk ¼l½ ;’kksnk ¼n½ nzkSinh 

3.  nsoD;k% fookg% dsu lg vHkor~ & 

 ¼v½ olqnsosu lg ¼c½ dkfrZds; ¼l½ f’kfo% ¼n½ Ñ".ksu lg 

4.  ^vklhr~* ins iz;qDra opua fy[kr & 

 ¼v½ ,dopue~ ¼c½ f}opue~ ¼l½ cgqopue~ ¼n½ izFke% 

5.  ^u`ifr%* inL; lekukFkZda fy[kr & 

 ¼v½ Hkwifr% ¼c½ fogx% ¼l½ e`xsUnz% ¼n½ lqj% 

 ¼[k½  v/kksfyf[kr i|ka’k ifBRok iz’ukuke~ mÙkjkf.k fy[kr &  (5×1=5) 
  gLrL; Hkw"k.ke~ nkua 

  lR;a d.BL; Hkw"k.ke~A 

  Jks=L; Hkw"k.ka 'kkL=a 

  Hkw"k.kS% fda iz;kstue~AA 

6.  lR;a dL; Hkw"k.ka Hkofr & 

 ¼v½ d.BL; ¼c½ mnj% ¼l½ nUr% ¼n½ f’kj% 

7.  Jks=L; Hkw"k.ka fde~ vfLr & 

 ¼v½ 'kkL=a ¼c½ dforka ¼l½ okrkZykie~ ¼n½ x|ka’ke~ 

8.  gLrL; &&&&&&&&&&&& nkue~A 
 ¼v½ Hkw"k.ke~ ¼c½ foHkw"k.ke~ ¼l½ ykspue~ ¼n½ iz;kstue~ 

9.  ^lR;a* 'kCnL; foykse% vfLr & 

  ¼v½ vlR;a ¼c½ ijkFkZ% ¼l½ irue~ ¼n½ ykHk% 

10.  ̂Hkw"k.ke~* 'kCnL; vFkZa vfLr& 



 

 

  ¼v½ vkHkw"k.k ¼c½ iq"i ¼l½ 'kSy ¼n½ Hkou 

 ¼x½  v/kksfyf[kr iz’ukuke~ mÙkjkf.k fodYis"kq fpRok fy[kr &  (10×1=10) 
11.  osnk% lfUr& 

  ¼v½ =;% ¼c½ i ~́p ¼l½ pRokj% ¼n½ "k"B 

12.  m|kus vklu~ & 

  ¼v½ Qykfu ¼c½ [kxkfu ¼l½ iq"ikf.k ¼n½ efgyk% 

13.  [kxku~ ǹ"V~ok vrho izlUu% vHkor~ & 

  ¼v½ u`i% ¼c½ flag% ¼l½ O;k/k% ¼n½ tEcqd% 

14.  if{k.k% groUr & 
  ¼v½ ektkZje~ ¼c½ liZe~ ¼l½ x`/kze~ ¼n½ J`xky% 

15.  x.kra= fnol% lekjksg% vfLr & 

  ¼v½ jkT;L; ¼c½ lektL; ¼l½ jk"VªL; ¼n½ fo|ky;L; 

16.  egkHkkjrL; ,de~ vaxe~ vfLr & 

  ¼v½ osnk% ¼c½ mifu"knk% ¼l½ xhrk ¼n½ euqLe`fr 

17.  gal% 'kuS% 'kuS% vpyr~ & 

  ¼v½ nsonÙka izfr ¼c½ u`ia izfr ¼l½ fl)kFkZa izfr ¼n½ ea=ha izfr 

18.  diksrjktL; uke vklhr~ & 

 ¼v½ lqxzho% ¼c½ v=xzho% ¼l½ fp=xzho% ¼n½ fofp=oh;Z% 

19.  'kkodkuka j{kka djksfr Le & 

 ¼v½ ,d% x`/kz% ¼c½ ,d% okuj% ¼l½ ,d% liZ% ¼n½ ,d% diksr% 

20.  HkkjrL; lafo/kkua lapkfjre~ vtk;r & 

 ¼v½ 1947 res o"ksZ ¼c½ 1951 res o"ksZ ¼l½ 1950 res o"ksZ ¼n½ 1946 res o"ksZ 

II. funsZ’kkuqlkj mÙkj fy[kr &    (6×2=12) 
21.  i;kZ; ina fy[kr 

 ¼v½ vkdk’k% ¼c½ pUnz% 

22.  foykse ina fy[kr & 

 ¼v½ re% ¼c½ fgre~ 

23.  lfU/k foPNsna dq#r & 

 ¼v½ rL;ksifj ¼c½ tkyeknk; 

24.  fjDr LFkkukfu iwj;r & 
 ¼v½ tuk% ùR;a 

&&&&&&&&
 A ¼i’;fUr @ i’;fr½ 

 ¼c½ pUnz% pdksjL; fiz;% 
&&&&&&&&

A ¼vfLr @ lfUr½ 

25.  'kq)a ¼½ v’kq)a ¼×½ ok fpg~ua fy[kr & 

 ¼v½ O;ogkjs.k fe=kf.k fjio% p tk;UrsA 
&&&&&&&&&&&&

 

 ¼c½ fo|kghu% lHkke/;s u 'kksHkrsA 
&&&&&&&&&&&&

 

26.  d% de~ dFk;fr & 

  okD;  d% de~ 

 ¼v½ vga uwua ro iz’ukuke~ mÙkjkf.k nkL;kfeA 
&&&&&&&&&&&&& &&&&&&&&&&&&&

 

 ¼c½ ,"k% ljksoj% e;k jf{kr% vfLrA 
&&&&&&&&&&&&& &&&&&&&&&&&&&

 

 
III. funsZ’kkuqlkja iz’uke~ mÙkjkf.k fy[kr &   (11×3=33) 



 

 

27- v/kksfyf[kr inkfu iz;qT; okD;kfu jp;r & 

  ¼v½ ous"kq ¼c½ iq"is"kq ¼l½ olUrs 

28- laLÑr Hkk"kk;ke~ vuqokna dq#r & 

  ¼v½ o`{k ij vusd i{kh jgrs FksA
 

  ¼c½ la?k esa 'kfDr gksrh gSA 

  ¼l½ pUnu ls pUnzek 'khry gksrk gSA 

29- lekl foxzga dq#r & 

  ¼v½ yksdfgre~ = &&&&&&&&&&&&& +  &&&&&&&&&&&&& 

  ¼c½ dk;Z {ks=s = &&&&&&&&&&&&& +  &&&&&&&&&&&&& 

  ¼l½ d"VioZrs = &&&&&&&&&&&&& +  &&&&&&&&&&&&& 

30.  v/kksfyf[krkfu 'kCnkfu opukuqlkjs.k i`Fkda & i`Fkda fy[kr & 

 ¼lk/kq%] ik.Mok%] o{̀kkS] deys] ljksoj%] ;ejkt%] mÙkjkf.k½ 

 ¼v½ ,dopue~ ¼c½ f}opue~ ¼l½ cgqopue~ 

31.  js[kkafdr inkfu vf/kÑR; iz’ukfu jp;r & 

 ¼v½ fl)kFkZ% fouez% vklhr~A 

 ¼c½ jktlHkk;k% e/;s gale~ vLFkki;r~A 

 ¼l½ vkdk’k% fueZy% HkofrA 

32- mfprfoykse 'kCnkuka esyua dq#r & 

 T;s"B% thfore~  

 O;kdqy% i`"Bs 

 iz'ukfu nkuo% 

 e`re~ 'kkUr% 

 nso% dfu"B% 

 vxzs mÙkjkf.k 

33- v/kksfyf[kr 'yksdL; vFkZ fy[kr & 

 'kSys&’kSys u ekf.kD;a] ekSfDrda u xts xtsA 

 Lkk/koks u fg loZ=] pUnu u ous&ousAA 

34- v/kksfyf[kr iz’ukuke~ mÙkjkf.k iw.kZokD;su mÙkjr & 

 ¼v½ dfiyoLrq jkT;s d% 'kklua djksfr Le \ 

 ¼c½ ik.Mok% dL; iq=k% vklu~ \ 

 ¼l½ ljksojs"kq dkfu fodlfUr \ 

35- vlaxr ina fpuqr & 

 ¼v½ us=e~] eq[ke~] d.B%] cky% 

 ¼c½ ckydk%] ekuok%] vkdk’k%] tuk% 

 ¼l½ O;ogkjs.k] desZ.k] fe=e~] /kusu 

36- iz’ukuke~ mÙkjkf.k ,dinsu fy[kr & 

  ¼v½ eulk fda dj.kh;e~ \
 

  ¼c½ nq%[k lkxjs fda dj.kh;e~ \
 

  ¼l½ dq= pj.kh;e~ \ 

 

37- v/kksfyf[kr inkuka foHkfDr opua p fy[kr & 



 

 

  'kCn foHkfDr% opue~ 

  ¼v½  diksrk% 
&&&&&&&&&&& &&&&&&&&&&&& 

  ¼c½  tkye~ 
&&&&&&&&&&& &&&&&&&&&&&&

 

  ¼l½  laxBusu 
&&&&&&&&&&& &&&&&&&&&&&&

 

IV. foLrkjiwoZd iz’uke~ mÙkjkf.k fy[kr &   (3×5=15) 
38- v/kksfyf[kr x|ka’kL; vFkZ fy[krA 

 r= ,"k mRlo% egrk mRlkgsu mYyklsu p lek;ksT;rsA ,rfLeu~ fnols Hkkjr}kje~ bfr LFkkus jk"Vªifr% jk"Vaª 

lEcks/k;frA rnuUrja tylsuk] Fkysluk] ok;qlsukuka lSfudk% rL; lEeq[ke~ vkxR; rL;kfHkuUnua dqoZfUrA 

rRi’pkr~ fofHkUukuka ;q)ksidj.kkuka izn’kZu HkofrA 

39- ^n;kyq% fl)kFkZ%* vFkok ^laxBus 'kfDr%* ikBL; dFkk Lo’kCns"kq fgUnhHkk"kk;ke~ fy[krA 

40- fp=e~ n`"Vok inkfu la;ksT; laLÑrs i ~́p&okD;kfu jp;r & 

 ¼ckfydk] Hkkstue~] r.Mqyku~] ifjokjL;] ekrk] tud%] tyik=e~] [kknfr] ckyd%] Lusgsu] ficfr] tye~½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

ROLL NO.   ST. PAUL’S SR.SEC. SCHOOL, AJMER  
SAMPLE PAPER YEARLY EXAMINATION (2024-25) 

          SUBJECT-MATHEMATICS (CLASS –VII) 
TIME: 2HRS.30 MIN.       M.M.- 80 
 
Instructions: 

All questions are compulsory. 

Choices are given in q.no. 21, 26 and 32 

Make table to write the answers of multiple-choice questions from q.no. 1 to 20.  

SECTION-A       (20 x 1=20) 

Choose the correct option: - 

1.  8 x 8 x 8 in exponent form can be written as 

(a) 83   (b) 88   (c) 82   (d) 80 

2. If  a  ÷  3-3 =5 then which one of the following is the correct value of a 

(a) 
5

27
   (b) 

27

5
    (c) 

9

5
   (d) 

5

9
 

3. Out of these what must be added to 1 – 2x to get -2 + 5x 

(a) 3 – 7x   (b) -1 + 3x  (c) 7x – 3  (d) 3x + 1 

4. 7x2y is a 

(a) Monomial   (b) binomial  (c) trinomial   (d) None of these 

5. A child throws a die 10 times. The observations found are as follows 6,2,2,3,1,5,1,6,2,5. The mode of the 

observation is. 

(a)2   (b) 6    (c) 1   (d)5 

6 . The range of 3.5, 2,  4.5,  8.7,  1.9, 3.2, 1.9 is 

(a) 1.5   (b) 2.5   (c) 6.8    (d)1.6 

7.The area of a circle having radius 21 cm is 

(a) 1386 cm2  (b) 1836 cm2  (c) 1388 cm2  (d) None of these 

8. Which of the following is not a Pythagorean triplet 

(a) 5, 12, 13  (b) 10, 15, 25  (c) 15, 36, 39  (d) 10, 24, 26 

9. Six less than four times of a number x  is expressed as 

 ( a) 4x-6    (b) 6x -4   (c) 4x+6  (d) 6+4x 

10. Simple interest on Rs. 2500 for 3 years at 5% rate of interest is 

(a) Rs 3.57  (b) Rs 375  (c) Rs 735  (d) Rs 370 

Match the following: - 

11.  1) Area of rectangle if l=5m, b=4m     A) 12 m2 

 2) Area of square if side 4m      B) 16 m2 

3) Area of Rhombus if d1=6m d2= 4m    C) 20 m2 

(a) 1- A 2 –B 3 - C  (b) 1 – C 2 –B 3 -A (c) 1- B 2 –C 3 - A (d) 1 – C 2 – A 3 – B 

12.        1) Triangle, whose each angle is 60°      A) Hypotenuse 

  



 

 

2)  line segment joining a vertex of a triangle to the midpoint of the opposite B) Equilateral 

3) Side opposite to the right angle in a triangle     C) Median 

(a) 1- A 2 –B 3 - C  (b) 1 – C 2 –B 3 -A (c) 1- B 2 –C 3 - A (d) 1 – C 2 – A 3 – B 

13. Fractional representation of 16.25% is………….. 

(a) 
5

27
   (b) 

27

5
    (c) 

13

80
   (d) 

5

9
 

14. If   1 candle costs  ₹5  then the cost of 16, such candles is………….. 

(a) 25 Rs.  (b) 20 Rs.   (c) 80Rs.  (d) 50 Rs. 

Assertion Reason: - 

(a) Both assertion and reason are true and reason is the correct explanation of assertion. 

(b) Both assertion and reason are true but reason is not the correct explanation of the assertion. 

(c) Assertion is true but reason is false. 

(d) Assertion is false but reason is true. 

15.Assertion- The circumference  of the circle is the length(perimeter) of the circle 

Reason -The radius of the circle is the length of the line from the centre to any point on its boundary 

16.Assertion- If the difference between the selling price and cost price is negative, then the difference is                       

                       called loss 

      Reason- Loss percent = 
loss

C.P.
  x 100 

17.Assertion- The side opposite to the right angle is called hypotenuse 

     Reason- If the length of the sides of a right angle triangle are 5 m and 12 m, then the length of the          

               hypotenuse is 15 m. 

  Case study:-  

     The table given below is the distribution of the marks of 37 students of class7th in which  

     marks ( class interval) and number of students are given. Observe the table carefully and answer 

       the following questions given below. 

CLASS 0-5 5-10 10-15 15-20 20-25 25-30 30-35 

NO.OF 

STUDENTS 

4  3 1 6 10 5 8 

 

18. The lower limit of first class interval is 

 (a) 0   (b) 5    (c) 15    (d) 2.5 

19. The class size of the given distribution is 

 (a) 5   (b) 10    (c) 15    (d) 20 

20. Class mark of sixth class interval 

 (a) 25   (b) 28.5   (c) 28              (d) 27.5 

     SECTION-B          (5 x 2=10) 

21.Express each of the following   in exponential notation (i) -125     (ii) a x b x a x b 

      OR 

 Express each of the following in scientific notation  (i)0.000756   (ii) 5400000 

22. If C.P.=1200 Rs. and S.P.=1400 Find loss  or  profit percent. 

 23. A woman  worker earns ₹18,000 in 15 months 



 

 

 (i) How much does she earn in 7 months (ii) In how many months  she will earn ₹30,000 

       

24.find the value of     ( 
𝑎

𝑏
 )2 if   

𝑎

𝑏
  =    ( 

3

8
 )18    ÷    ( 

3

8
 )15  

   25. If x = - 2 and y = 3, then find the value of  a. (3x3 + 2y +3)   b. (x ² + y²) 

       SECTION-C          (6x 3=18) 

  26. By selling an article for Rs. 27600, a man makes a loss of 8%. What is the actual loss ?What is the  cost     

       price of the article? 

      OR  

A sum of Rs. 6050 is borrowed at 6.5% per annum rate of interest. Find the interest and amount to be paid at 

the end of 3 years. 

 27. An exterior angle of a triangle measures 120º and it’s interior opposite angles are in the ratio 5:7. Find the  

      angles of the triangle. 

 28. A piece of wire is in the form of a rectangle whose length and breadth are 35cm and 31 cm respectively. It  

        is  rebent to form a circle. Find the radius of the circle? 

29.Evaluate the following and find their reciprocal (i)   ( 
3

−7
 )3 (ii) ( 

2

5
 )5 

30. The numerator of a fraction is 4 less than the denominator. If 1 is added to both its numerator and  

      denominator, it becomes 
1

2
  find the fraction. 

31. Find the value of x,y and z if l is parallel to m 

  

                                              

     SECTION-D     (4x 5=20) 

32. A ladder of 15 m long reaches the window, which is 9 m above the ground on one side of a street, keeping its 

foot at the same point, the ladder is turned to other side of the street to reach a window of 12 m high. Find the 

width of the street. 

    OR 

A tree broke at a point, but did not separate. It’s top touches the ground at a distance of 6 dm from its base. If the 

point where it broke be at a height 2.5 dm from the ground, what was the total height of the tree before it broke.  

33.Find the perimeter of the following figures                 

          (a)                        (b)                      

34. Find the mean and median of the following marks of 15 students 

 2, 5, 3, 0,1, 8,5,7, 11, 15, 1, 13, 0, 8, 0 

35. In the given table the details of rainfall in a city from May to September during a year is given. Construct a  

     bar graph for the same. 

 

 

 

Month May June July August September 

Rainfall (in cm) 20 30 25 20 10 



 

 

                                                                        SECTION-E     (3 x 4=12) 

CASE STUDY- 

36. Mr. Mohanti is a wholesale dealer of the school bags. He purchases 

school bags from the factory and sells them. He bought one school bag for 

₹425 and sold it for ₹518. Naturally, he has earned some money in the 

whole transaction.  

Based on the above information, answer the following questions  

(i)Find the profit he got in this transaction.(1) 

(ii)Had he sold one bag for rupees ₹400instead of ₹518,then what would be the loss on selling one bag?.(1) 

(iii) Find the loss percent for the loss found in part (ii) .(2) 

37. Two cross roads each of width 5 m run at right angles through 

the centre of a rectangular park 70 m by 50 m such that each is 

parallel to one of the sides of the park. 

(i) Find the area of the park.(1) 

(ii)Find the area of the path .(1) 

(iii)Find the area of the remaining portion ?(2) 

                                                                         

38. Survey of different families was done by an NGO to find the number of 

children in different families of Jaipur. The graph  is being plotted by using 

these data which is shown here. Observe the graph carefully and answer the 

following questions. 

 i)How many families have five children each? (1) 

(ii)How many children per family are there in the maximum number of families? (1) 

(iii)How many families have (a) maximum number of children (b) minimum number of children (2) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

ROLL NO.           ST. PAUL’S SR. SEC. SCHOOL, AJMER  
SAMPLE PAPER YEARLY EXAMINATION(2024-25) 

Time: 2
𝟏

𝟐
 𝑯𝒓𝒔.   SUBJECT-SCIENCE (CLASS – VII)    M.M: 80 

General Instructions: 
i)This question paper consists of 37 questions in 6 sections. 

ii) All questions are compulsory. However, an internal choice is provided in some questions. Student is 

expected to attempt only one of these questions.  

iii) Section–A has 20 questions of 1 mark each. 

iv)Section–B has 3 questions of 2 marks each. 

v) Section –C has 5 questions of 3 marks each. 

vi)Section –D has 3 questions of 4 marks each. 

vii) Section –E has 3 questions of 5 marks each and 

viii) Section – F has 3 case study questions of 4 marks each. 

SECTION-A (1 MARKS) 

1. A solution turn china rose solution into dark pink. Its nature is 

a. Acidic.  b. Basic.  c. Neutral.  d. None of these 

2. Which of the following is a property of bases? 

a. They turn blue litmus red  b. They have a pH less than 7  c. They feel slippery             d. 

They taste sour 

3. Filament of bulb glow   

a. At Atmospheric temperature  b. At low temperature  c. At high temperature   

d. At temperature of ice.  

4. When electric current is passed through an electric bulb, it produces  

a. Heat and sound  b. Heat and light  c. Heat only d. Light only  

5. When a solution turns red litmus blue, it is: 

a. Neutral  b. Acidic  c. Basic  d. Both acidic and basic 

6. An example of a natural indicator is: 

a. Phenolphthalein  b. Methyl orange  c. Red cabbage extract  d. Bromothymol blue 

7. Which of the following is an acidic solution?  

a. Soap solution  b. Vinegar  c. Baking soda solution  d. Ammonia solution  

8. Which piece is attracted by an electro magnet  

a . Wood   b. Plastic  c. Rubber  d. Iron  

9. A battery is a group of  

a.  A single cell   b. Only two cells  c. Two or more cells    d. Only three cells 

10. Litmus paper turns red in:  

a. Acidic solution  b. Basic solution  c. Neutral solution  d. Salty solution 

11. Match the items in Column 1 with Column II. 

Column 1 Column II 

(a) Vinegar (i) is used as indicator 

(b) Sodium chloride (ii) is sour to taste 

(c) Milk of magnesia (iii) major salt of sea 

(d) Turmeric (iv) changes red litmus blue 

a. (a)-(ii) (b)-(iii) (c)-(iv) (d)-(i)   b. (a)-(ii) (b)-(iii) (c)-(i) (d)-(iv)  c. (a)-(iii) (b)-(ii) (c)-(iv) (d)-(i) 

d. (a)-(ii) (b)-(iv) (c)-(iii) (d)-(i) 

  

12. Match the statements in Column I with those in Column II. 



 

 

Column I Column II 

(a) A magnetic device used for finding 

geographic directions 
(i) Magnetic needle 

(b) A device which is essential in an electric 

bell 
(ii) Electromagnet 

(c)  A material which does not allow the 

electric current to pass 
(iii) Wax 

(d) A material used for making 

electromagnets 
(iv) Soft Iron 

a.(a)-(ii) (b)-(i) (c)-(iv) (d)-(iii)  b. (a)-(i) (b)-(ii) (c)-(iii) (d) -(iv)   c.(a)-(ii) (b)-(i) (c)-(iii) (d)–(iv)  

d. (a)-(i) (b)-(ii) (c)-(iv) (d) -(iii) 

13. An antacid is used to ------------------------:  

a. Neutralize stomach acid b. Increase stomach acid c. Promote acidity d. None of these 

14. ------------------- turns off automatically when current in the circuit exceeds the safe limit? 

a.  Electromagnet  b. coil  c. MCB  d. CFL 

15. Assertion (A): Vinegar is used in food preservation.  

 Reason (R): Vinegar is a strong base. 

 a. Both A and R are true and R is the correct explanation of A. 

 b. Both A and R are true but R is not the correct explanation of A.  

c. A is true but R is false.  

d. A is false but R is true.  

16.  Assertion (A): Litmus paper is a common indicator.  

 Reason (R): Litmus paper changes color in acidic and basic solutions.  

a. Both A and R are true and R is the correct explanation of A. 

 b. Both A and R are true but R is not the correct explanation of A.  

c. A is true but R is false.  

d. A is false but R is true. 

17. Assertion (A): The copper wire used in connection does not get heated when current flows through the 

circuit. 

Reason (R): Copper is a good conductor and offers very little resistance the current. 

a. Both A and R are true and R is the correct explanation of A. 

 b. Both A and R are true but R is not the correct explanation of A.  

c. A is true but R is false.  

d. A is false but R is true. 

Read the given passage below and answer the questions: 

Electricity is the form of energy which we use electricity for many purposes to make our tasks easier. Electricity 

makes it possible to light our homes, roads, offices, markets and factories even after sunset. A bulb has a thin 

wire that gives off light. The wire of an electric bulb gets heated to such a high temperature that it starts glowing. 

An electric bulb has a filament that is connected to its terminals. Nowadays the fluorescent CFLs and LED bulbs 

are being used for lighting as they are considered much better than incandescent electric bulbs. CFLs – Compact 

fluorescent lamps, LED – light emitting diode. Fluorescent tubes and CFLs contain mercury vapour, toxic in 

nature. Therefore, damaged fluorescent tubes or CFLs need to be disposed off safely. It is advised to use 

electrical appliances and gadgets, which are electricity efficient. It also advisable to use ISI marked electrical 

appliances and gadgets 

18. What is the name of thin wire in the electric bulb? 

(a) Element (b) Coil (c) Filament (d) Fuse 

19. CFLs and LED stand for: 

(a) Compact fluorescent lamps and light emitting diode. (b) Composed fluorescent lamps and light 

emitting diode. (c) Compact fluorescent lamps and light emission diode. 

(d) Composed fluorescent lamps and light emission diode. 

20.  Fluorescent tubes and CFLs contain toxic gas: 

(a) carbon monoxide (b) water vapour (c) mercury vapour (d) Chlorofluorocarbons 



 

 

SECTION – B (2 MARKS) 

21. Does transpiration serve any useful function in the plants? Explain.1 

22. Draw and label the female reproductive part of a flower. 

23. Why should we not throw (a) used tea leaves into sink? (b) cooking oil and fats down the drain. 

Or  

What is a septic tank? Where it is used. 

SECTION – C (3 MARKS) 

                                                   

24. Which change is shown in given figure? Define it with example.  

25. Observe the given diagram of human respiratory system. List the organs from (A) to (G). 

                                           
26. What are the features of the image formed by a concave mirror? 

Or 

Write an activity to show that light travel in a straight line. 

27. Explain the following terms: a) Sewage b) Aeration. c) Sludge.  

28.  What are the different types of sewerage? 

SECTION – D (4 MARKS) 

29. Write any four functions of blood? 

Or  

Describe the functioning of heart. 

30. Write any four advantages of type of asexual reproduction shown in figure?  

31. Outline your role as an active citizen in relation to sanitation.(four points) 

SECTION – E (5 MARKS) 

32. Draw symbols of the following electric components: 

 
33. Write the difference between physical and chemical change. 

Or  

Mention some ways to prevent rusting. 

34. Differentiate between breathing and respiration. 



 

 

SECTION – F (4 MARKS) 

Read the following paragraph and answer the following questions  

35. Circulatory system is one of the most important system of the body because it ensures the exchange of 

substances between cells of the body and external environment and transport them from one part to 

another. Body fluids are the medium of transport in the body. These fluids have the ability to pick up 

substances and distribute them to various parts of the body. Blood has two components- fluid part and 

different types of cells. Blood is composed of a fluid called plasma in which different types of cells are 

suspended. The red blood cells (RBC) contain a red pigment called hemoglobin. White blood cells 

(WBC), They fight against germs that may enter the body and protect it from infection. Platelets: They 

form clot and stop or prevent bleeding.   

          a. Name the fluid part of the blood. 

             b. Which blood cells contains hemoglobin?  

            c. What is the function of white blood cells (WBCs) and platelets? 

36. Stamens are the male reproductive part and pistil is the female reproductive part. Flowers which 

contain either only pistil or only stamens are called unisexual flowers. Flowers which contain both 

stamens and pistil are called bisexual flowers. Corn, papaya and cucumber produce unisexual 

flowers, whereas mustard, rose and petunia have bisexual flowers. Both male and female unisexual 

flowers maybe present in the same plant or indifferent plants. Anther contains pollen grains which 

produce male gametes. A pistil consists of stigma, style and ovary. Ovary contains one or more 

ovules. The 

Female gamete or the egg is formed in an ovule. In sexual reproduction a male and a female gamete 

fuse to form a zygote. 

                            a. Define unisexual flowers? 

                      b. Give two examples of bisexual flowers?  

                      c. Name the male and female reproductive parts of a flower. 

37. Sewage is wastewater released by homes, industries, hospitals, offices and other users. It also includes rainwater that has run 

down the street during a storm or heavy rain. The water that washes off roads and rooftops carries harmful substances with it. 

Sewage is a liquid waste. Most of it is water, which has dissolved and suspended impurities. In a home or a public 

building generally one set of pipes brings clean water and another set of pipes takes away wastewater. Imagine that we 

could see through the ground. We would see a network of big and small pipes, called sewers, forming the sewerage. It is like a 

transport system that carries sewage from the point of being produced to the point of disposal, i.e. treatment plant. 

Manholes are located at every 50 m to 60 m in the sewerage, at the junction of two or more sewers and at points where there is 

a change in direction. 

  a. Manholes are located at how much distance in the sewerage? 

 b. Where does the sewers transports the sewage after collecting all the wastewater from various sources? 

 c. Define sewers.  Rain water that runs down in the streets during heavy rainfall is also wastewater is it  

                   true  or false. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

ROLL NO.            ST. PAUL’S SR. SEC. SCHOOL, AJMER 

Sample paper yearly examination (2024-25)   

Subject: Social Science 

Time: 2 ½ Hrs.    Class : VII       M.M. 80 

Instructions: 

(i) This Questions paper contain 37 questions. All questions are compulsory. 

(ii) There is no overall choice in the question paper. 

 

[I] Choose the correct option and write in your answer sheet     20 x 1 = 20 

      

(1) Ramacharitamanas was authored by 

(a) Tulsidas    (b) Kabir   (c) Surdas 

(2) The famous Sufi saint Gisudaraz had his headquarters at 

(a) Gulbarga    (b) Thanjavur   (c) Chennai 

(3) The Jagannath temple at Puri is dedicated to which God? 

(a) Vishnu    (b) Shiva   (c) Krishna 

(4) Which of the following was not one of the ‘three jewels’ of Kannada literature?   

(a) Kamban    (b) Pampa   (c) Ponna 

(5) The layer of atmosphere lying between 50 to 80 km is called 

(a) Stratosphere   (b) Mesosphere  (c) Thermosphere 

(6) The subtropical high pressure belt is also known as  

(a) Doldrums    (b) Horse latitude  (c) Tropic of cancer 

(7) The temperature of the oceans is highest near the  

(a) Poles    (b) Equator   (c) Tropics 

(8) A bird with huge bill found in Amazon forests:  

(a) Tapioca    (b) Tapir   (c) Toucan 

(9) Tibetan antelope that was hunted and killed for its fine quality wool known as ‘shahtoosh’ :  

(a) Ibex    (b) Jerboa   (c) Chiru 

(10) A place where buyers exchange money for goods is called  

(a) Vendor    (b) Field   (c) Market 



 

 

(11) Match the following 

1. Baba Farid     (i) Disciple of Moinuddin Chishti  

2. Alvars      (ii) Periyalvar 

3.  Khwaja Moinuddin Chishti   (iii) Sikhism 

4.  Guru Nanak     (iv) Ajmer 

(a)  1.(i), 2. (ii), 3. (iv), 4. (iii)   (b) 1.(ii), 2. (i), 3. (iv), 4. (iii) 

(c) 1.(iii), 2. (iv), 3. (ii), 4. (i)  

(12) Match the following 

1. Bharatanatyam    (i) Tamil Nadu  

2. Cheras      (ii) Malayalam 

3.  Jagannath Temple    (iii) Pandua 

4.  Adina mosque     (iv) Puri 

(a)  1.(i), 2. (ii), 3. (iv), 4. (iii)   (b) 1.(ii), 2. (i), 3. (iv), 4. (iii) 

(c) 1.(iii), 2. (iv), 3. (ii), 4. (i)  

Fill In the Blanks  

(13) Katha-Saritasagara is a collection of stories in………….  

(a) Rajasthani    (b) Sanskrit   (c) Punjabi 

(14) The Amazon Basin has the richest………..in the world  

(a) tundra forest   (b) rainforest   (c) Deciduous forest  

(15) …………are water holes in the desert. 

(a) Desert    (b) Oasis   (c) Ice 

In the questions given below, there are two statements marked as Assertion (A) and Reason (R). Read statements 

and choose the correct option. 

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct  

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explanation of Assertion (A). 

(c) Assertion (A) is true but Reason (R) is false. 

(d) Assertion (A) is false but Reason (R) is true. 

16 Assertion (A) : Tides indicate the regular and periodic rise and fall in sea level.  

     Reason (R) : Tides are caused by the gravitational pull of the Moon and sea level. 

17 Assertion (A) : There is high salinity in Red Sea. 

     Reason (R) : Rate of evaporation is high in Red Sea. 



 

 

Read the passage given below and answer the questions that follow. 

 

All India Radio (AIR), officially known since 1956 as ‘Akashvani’ is the national public radio broadcaster of 

India. It was established in 1936. All India Radio is the largest radio network in the world and one of the largest 

broadcasting organisations in the world in terms of the number of languages broadcast and the spectrum of socio-

economic and cultural diversity it serves. AIR's home service comprises 420 stations located across the country, 

reaching nearly 92% of the country's area and 99.19% of the total population. AIR originates programming in 23 

languages and 179 dialects. 

18. All India radio is also officially known as 

(a) Kurushetra  (b) Akashvani  (c) Khabre  

19. All India Radio was established in 

(a) 1956  (b) 1936  (c) 1947  

20. All India Radio broadcasts programmes in how many languages? 

(a) 24   (b) 23   (c) 25 

 

[II} Answer the following in a Word or a Sentence       3 x 2 = 6 

       

Q.21 What are miniature paintings? 

Q.22 What causes rapid evaporation? 

Q.23 Define ‘media’. 

 

[III] Answer the following questions in 50 words       5 x 3 = 15 

       

Q.24 Describe the main aspects and principles of Rajasthani paintings. 

Q.25 Why does the temperature decrease with increase in altitude? Give reasons. 

Q.26 Name the factors that cause movement of the ocean water. 

Q.27 Mention any two peculiarities of Ladakh’s climate 

Q.28 Explain how a chain of markets is formed. 

 

[IV] Answer the following questions in 60 – 70 words      4 x 4 = 16 

      

Q.29 State any two importance of tides. 

Q.30 Write a short note on the climate of Amazon basin. 

Q.31 Why does the press need to be honest? 



 

 

Q.32 Describe various types of markets. 

 

[V] Answer in detail            2 x 5 =10 

          

Q.33 What were the major beliefs and practices of the Sufis? 

Q.34 What is ‘Hydrological cycle’? Explain with the help of a diagram. 

 

[VI] Case Study based Questions         2 x 4 = 8 

 

Q.35 Read the passage given below and answer the questions that follow.    

 

The tropical region lies very close to the equator; between 10°N and 10°S. So, it is referred to as the equatorial 

region. The river Amazon flows through this equatorial region. It flows from the mountains to the west and 

reaches the Atlantic Ocean to the east. The place where a river flows into another body of water is called the 

river’s mouth. Numerous tributaries join the Amazon River to form the Amazon basin. The river basin drains 

portions of Brazil, parts of Peru, Bolivia, Ecuador, Columbia and a small part of Venezuela. 

Q.1.) What is the latitudinal extent of the tropical region?      (1) 

Q.2.) Where does the amazon river flow from?       (1)  

Q.3.) Define river’s mouth.          (2) 

 

Q.36 Read the passage given below and answer the questions that follow. 

 

1. In the twelfth century, one of the most important rulers of the Ganga dynasty, Anantavarman, decided to erect a 

temple for Purushottama Jagannatha at Puri. Subsequently, in 1230, king Anangabhima III dedicated his 

kingdom to the deity and proclaimed himself as the “deputy” of the God. As the temple gained in importance as a 

centre of pilgrimage, its authority in social and political matters also increased. All those who conquered Orissa, 

such as the Mughals, the Marathas and the English East India Company, attempted to gain control over the 

temple. They felt that this would make their rule acceptable to the local people. 

1.) Which king erected the temple at Puri?        (1) 

 2.) For whom did Anantavarman erect the temple at Puri?      (1) 

3.) Name the people who tried to conquer Orissa.       (2) 

 

Q.37 On the political map of Africa locate and label the following:     1 x 5 = 5 

 

(i) Niger  (ii) River Nile  (iii) Lake Chad (iv) Algeria  (v) Libya 
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                        Sample paper yearly examination (2024-25)              Roll No.  
CLASS – VII 
COMPUTER 

Time Duration: 2 hours 30 min       Max. Marks: 30 
 

Instruction:  Paper consists of five Sections; Section A (M.C.Q.) 6 x 
1 

2
 mark = 3  

marks, Section B (fill ups) 6 x 
1 

2
 mark = 3 marks. For Section A & Section B, you  

have to make a table as shown. Section C (up to 30 words) 6 x 1 mark = 6 marks,  

Section D (above 50 words) 6 x 2 marks = 12 marks, Section E (above 80 words)  

2 x 3 marks = 6 marks. All questions are compulsory.  
 

SECTION A 
 

1.   Which of the following is a symbol? 

 (a)  Button    (b) Grid   (c) Tween 

2.   HTML tags are enclosed in: 

 (a)  < >     (b) { }    (c) [ ] 

3.   Which one of the following is correct? 

 (a) math.ceil (11.99)   (b) math.ceil (11.99,9) (c) math.ceil (1,11,99) 

4.   Which of the following is an Internet Protocol Suite? 

 (a) TCP/IP    (b) IP    (c) HTMP 

5.   Which of the following allows you to create & edit documents like Microsoft Word? 

 (a) Google Doc   (b) Google Note Pad  (c) Google diary  

6.   Which of these is not a phase in an AI system? 

 (a) Production system training (b) Dataset creation  (c) Evaluation 
 

 

 

SECTION B 
 

7.    ________ are used in Shape Tween Animation. 

8.    ________ tag contains the content of the HTML document. 

9.   The flow of execution can be controlled by using the _________ statements.  

10.  ________ is a Social Networking site. 

11.  The _________ is a place where you can store your data securely? 

12.  _________ can do the risky things on behalf of humans. 

 
 

SECTION C 
 

13.  What are symbols? 

14.  What is HTML? 

15.  Give names of any three mathematical function. 

16.  What is Internet? 

17.  What is cloud computing? 

18.  What is dataset creation? 
 

SECTION D 
 

19.  Explain types of symbol editing? 

20.  Write down the basic building blocks / tags of HTML? 

21.  Describe the if statement. Write the Syntex. 

22.  Describe the term Social Networking. 

23.  Describe any four application of 3D printing?  

24.  Explain the working of an AI system. 
 

SECTION E 
 

25.  Describe IoT? 

26.  List all the disadvantages of AI. 



 

 

 

Roll no.              ST. PAUL’S SR.SEC. SCHOOL, AJMER 

Sample paper yearly examination(2024-25) 

Subject-General knowledge (Class – VII) 

Time 1 Hr. 15 min.         M.M. 50 

I. Choose the correct option and write in your answer sheet.  (𝟏𝟓 × 𝟏 = 𝟏𝟓) 

1. In which year did Commonwealth Games acquire their current name? 

A) 1978  B) 1954   C) 1970 

2. What was the mascot of 2020 Summer Olympics? 

A) Miraitowa.  B) Misha. C) Shera.  

3. The host country for 2020 Olympics Games was 

A) Tokyo, Japan.   B) Ottawa, Canada.   C) Rome,Italy.  

4. Which of the following is not an international sporting event? 

A) Ranji Trophy Match. B) Olympics.  C) Commonwealth games.  

5. The country to have the highest medals tally in Asian Games, 2023 was:   

A)  China. B) Japan. C) India.  

6. Indian weightlifter who won silver in the women’s 49 kg category in Tokyo Olympics 

2020. 

A) Karnam Malleshwari.  B) Saikhom Mirabai Chanu. C) Punam Yadav.  

7. Which of the following is not part of the Grand Slam tournaments? 

A) French Open. B) UK Open. C) US Open. 

8. Number of gold medals, silver medals and bronze medals won by India in Asian Games 

2023 

A) 20,30,10.   B) 28,38,41.  C) 36,26,40. 

9. The 2024 Summer Olympics will take place from 26 July to 11 August in which country?   

A) Oslo, Norway. B) Paris, France. C) Thailand. 

10. The 2026 Asian Games will be hosted by which country 

A) Athens, Greece. B) Nagoya, Japan.  C) Barcelona, Spain. 

11. Which sport is played in a rink? 

A) Boxing. B) Golf.  C) Skating.  

12. How many players make a Water Polo team? 

A)  4. B) 6.  C) 7. 

13. Pluto platter is another name for 

A) Phoenix. B) Jatayu.  C) Frisbee.    

14. The 2016 Summer Olympics is popularly known as? 

A) India 2016. B) China 2016. C) Rio 2016.   

15. The mascot Clyde is named after what? 

A) The sea.   B) The ocean.   C) The river Clyde. 

II. Fill in the blanks.( 𝟏𝟓 ×  𝟏 = 𝟏𝟓) 

16. A set of 4 bits is called --------------------------. 

17. A set of 8 bits is called --------------------. 

18. ------------------ Is the only Indian to have won two Oscar awards for music. 

19. The number of notes in music is ----------. 

20. 5 G L stand for -------------------. 

21. Inkjet is a form of ----------------- printer. 

22. -------------- Veda is associated with Indian Music. 

23. The playing time of our National Anthem is ---------. 

24. CAD stands for ---------------. 

25. ----------------------- is a place where waste is buried in the ground. 

26. The -------------------- is the chief agency for waste disposal. 

27. Any sewage should undergo waste water ----------------------------. 



 

 

28. Waste matter like paper and plastic can be reused or -----------------------------. 

29. --------------------------------- instrument records earthquakes. 

30. The World Widwlife Fund (WWF) located in ------------------------------. 

III. Write True or False.( 𝟓 ×  𝟏 = 𝟓) 

31. Laughter is the best medicine.    (  ) 

32. Rome was built in a day.      (  ) 

33. Too many cooks spoil the food.    (  ) 

34. Actions speak louder than words.    (  ) 

35. Every cloud has not a silver lining.   (  ) 

IV. Match the following.( 𝟓 ×  𝟏 = 𝟓) 

36. Neeraj Chopra    a) Wrestling. 

37. Sania Nehwal   b) Hockey. 

38. Roger Federer   c) Tennis. 

39. Rani Rampal   d) Javelin Throw. 

40. Yogeshwar Dutt   e) Badminton. 

V. Answer the following questions.( 𝟏𝟎 ×  𝟏 = 𝟏𝟎) 
41. Which state government recently dissolved three divisions named Banswara, Pali and      

             Sikar? 

42. Which organization has launched the quantum processor ‘Willow’?  

43. Which Russian cosmonaut recently set the record for spending the maximum time in 

           space? 

44. POEM 3 Mission, recently in the news, is launched by which space organization? 

45. What type of missile is New Generation AKASH (AKASH-NG) Missile? 

46. According to the Global Firepower (GFP) 2024 annual report, what is the rank of India  

            among the world’s most powerful militaries? 

47. Which planet was hit by the comet Shoemaker-Levy 9? 

48. Which is the biggest island in the Indian Ocean? 

49. Which city has been named the cleanest in India for the seventh consecutive year? 

50. Kargam is a folk dance of which state? 

 

 

 

 

  

 

 

 

 

 

 


